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���������	
��
���������
� = 8,520  GJ 

    = 8.52 x 106 MJ  

 

������� 3.6  MJ =   ��������%%&� 1  kWh 

������� 8.52 x 106 MJ =   ��������%%&� 8.52 x 106
 kWh 

            3.6 

     =   ����������	� 2.37 x 106
 kWh 

 


�������� 1  kWh 
��
���� CO2  0.72   Kg 


�������� 2.37 x 106
 kWh 
��
���� CO2  2.37 x 106x 0.72 Kg 

     �������% CO2 1,692,166.67  Kg 
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����1��67������ก�816���
��� 1,692,166.67 ก:0�ก��4 

 
2. ก�		��;&�%�	����
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���������	
��
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� = 1,305  GJ 

    = 1.305 x 106 MJ  

 

������� 3.6  MJ =   ��������%%&� 1  kWh 

������� 1.305 x 106 MJ =   ��������%%&� 1.305 x 106
 kWh 

            3.6 

     =   ����������	� 3.63 x 105
 kWh 

 

 

 

 

 




�������� 1  kWh 
��
���� CO2  0.72   Kg 


�������� 3.63 x 105
 kWh 
��
���� CO2  3.63 x 105x 0.72 Kg 

     �������% CO2 259,187.50  Kg 
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� = 11,196  GJ 

    = 1.12 x 106 MJ  

 

������� 3.6  MJ =   ��������%%&� 1  kWh 

������� 1.12 x 106 MJ =   ��������%%&� 1.12 x 106
 kWh 

            3.6 

     =   ����������	� 3.11 x 106
 kWh 

 


�������� 1  kWh 
��
���� CO2  0.72   Kg 


�������� 3.11 x 106
 kWh 
��
���� CO2  3.11 x 106x 0.72 Kg 

     �������% CO2 2,223,650.00  Kg 
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